A g PIIIH% . j % four decimals, order of operations with brackets

Name: Date: Score:
203.9 - 6.5)+5 = 18(2.1 - 5.5)+3 =

(30+6—6.4)x 3= (2.1 +25)x57+28=

47— 49(64+3.1) = 6(4.1 - 6.6)+2 =

(4.9+22)x25+2= (4+2.1)x54-39=

(24+4+69)x 3= 18(6.5— 4.5)+3 =
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A E PIHHE . j ; four decimals, order of operations with brackets

Name: Date: Score:
2039-6.5)+5=-104 18(2.1 -5.5)+3 =-204
B30+6—64)x3=-42 (21+25)x57+2.8=29.02
4.7—4.9(6.4+3.1)=—41.85 6(4.1—-6.6)+2=-75
49+22)x25+2=19.75 (4+2.1)x54-39=29.04
(24+4+6.9)x3=1387 18(6.5—4.5)+3 =12
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